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Additional Assessment Materials 

Pearson Edexcel AS Level in Business (8BS0)
 
Resource Set 1.2: The market












The Office for National Statistics stated that incomes fell by 2.2% in 2014. 
1. (a) Using the data in Extract B, calculate the income elasticity of demand for Approved Food, following an increase in weekly orders to 3,500 in 2014. You are advised to show your working.[image: ]				(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________




(b) Explain how a business, such as Approved Food, might use income elasticity of demand data.				(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________





2. Construct a supply and demand diagram to illustrate the likely impact of changing consumer tastes on Burger King.[image: ]				(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________





At the start of 2016, Beaverbrooks sold 600 Omega Seamaster watches. By 2017 this had increased to 690. Beaverbrooks calculated that the PED for this product was -0.8.

3. (a) Calculate, to 2 decimal places, the percentage fall in the price of an Omega Seamaster watch.[image: ]				(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________











(b) Assess two factors that could affect the supply of Beaverbrooks’ silver jewellery. 				(8)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________




4. (a) Using the data from Extract B, construct a supply and demand diagram to illustrate the impact of ageing coconut trees on the existing coconut market.
[image: ]				(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
















(b) Assess two factors that could cause a change in demand for Ape Snacks.
				(8)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________



[image: ]
5. Assess two non-price factors that might affect the demand for premium priced cars in the UK.									(8)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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6. Assess two factors that could influence the price elasticity of demand for M&S’s clothing range.									(8)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Extract B

Approved Food

Entrepreneur Dan Cluderay, started his business, Approved Food, on a market stall and it
has now expanded to be the largest online retailer of food and drinks that are near their
use-by date.

In 2013 Approved Food's turnover reached £4 million and its 50 employees were
shipping out more than 2 000 orders each week from its 60 000 sq ft warehouse in
Sheffield. Dan's business objective is to save shoppers 60-70% on each order.

The rise of Approved Food coincides with a growing awareness that our obsession with
use-by dates is resulting in more than a million tonnes of food waste a year.

This week, a government advisory body called the Waste & Resources Action Programme
(WRAP), reported that supermarkets were being “overly cautious” with their
use-by labelling.

It estimated that shoppers could save £600 million a year - about £25 per household
they were given an extra day to eat products such s fruit, vegetables and fresh meat.

Approved Food does not sell chilled or frozen goods, it only sells packaged products
such as rice, chocolate, crisps and toiletries.

(Source: adapted from www.express.co.uk/life-style/lfe/561869/Approved-
Food-Dan-Cluderay-fortune-selling-food-past-best-before-date)
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Extract B
Select Service Provider (SSP) to really fly at airports

Atairports and railway stations across Europe and beyond many people will have eaten
or drank at restaurants, bars and cafes operated by SSP. SSP is a leading operator of
branded food and beverage outlets in travel locations across 29 countries. It operates
about 2,000 outlets at 124 airports and 270 railway stations worldwide.

Some brands belong exclusively to SSP such as Millie’s Cookies, Upper Crust and Caffé
Ritazza, but SSP also operates franchises for well-known names such as Nando's, Burger
King and Starbucks.

SSP has been successful since becoming a public limited company in 2014 and has a
strong plan to expand. 44% of its revenue comes from the UK, with Asia and the Middle
East offering the biggest potential for growth.

Today SSP has about 300 brands. In line with changing customer tastes, many serve
healthier, premium food.

(Source: adapted from ‘Food Outlet firm to really fly at airports abroad"
by Joanne Hart, The Mail on Sunday, 4 October 2015)
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Extract B
Is being Britain's nicest jeweller great for business?

Beaverbrooks, the jewellers, has featured in the Sunday Times Best Companies to Work
For'list every year for over a decade. Chairman Mark Adlestone said: “We are a company
that cares and we believe in consultation with our employees”

When Anna Blackburn started as CEO at Beaverbrooks, it had a centralised organisational
structure with a narrow span of control. Anna found that branch managers were not
dealing with issues in-store and she wanted to change that. To give branch managers
more control, Anna made the business more decentralised.

Mark Adlestone admits that jewellery is a tough market: “We have done well on
diamonds, Swiss watches and our own brand silver jewellery, but we have struggled on
gold and other branded jewellery”

(Sources: adapted from http://www.watchpro.com/big-interview-beaverbrooks-chairman-
mark-adlestone-ceo-anna-blackburn/ and http://www.express co.ukinews/uk/727575/
Brexit-British-luxury-watch-industry-sales-rocket)
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Extract B
‘Global demand for coconut is booming

Founder and CEO of Ape Snacks, Zack Nathan, dropped out of university to start a healthy
snack company focusing on coconut-based products. Ape Snacks aims to encourage the
average person to eat a better diet, whilst operating as an environmentally responsible
business.

In the past decade, the global demand for coconut has grown by 500%. During the same
time a series of celebrity endorsements and sponsorships have relaunched coconut as a
‘superfood In addition to demand for coconut oil and coconut water, strong niche markets
are also emerging for coconut-based snacks.

However, many coconut producing countries are struggling to keep up with demand due
to ageing coconut trees, which produce fewer coconuts. Estimates suggest that 1 billion
new trees need to be planted to keep up with demand.
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Extract A
Aston Martin set for shake-up and targets new buyers

Andy Palmer joined UK-based premium priced car manufacturer Aston Martin as Chief
Executive to implement a new marketing strategy targeting younger buyers and women.

At the Geneva Motor Show he announced that he wants the car maker to rebuild its
range of sports cars as well as add two new cars to the product portfolio in order to
target this new market.

“As an industry, were pretty poor at ticking the boxes that satisfy women customers, we
tend to view cars for women as pink it and shrink it' - add a place to hold your handbag —
‘which | think is quite cynical”

“You have to start with a type of beauty and then imagine how you make that more.
affordable to a younger generation and appealing to female customers” he added.

A more feminine Aston Martin would probably have  higher driver's seat and greater
durability, more like a 4 x 4 vehicle. This will put the company in the competitive, fast-
‘growing segment of premium priced cars, alongside Jaguar who focus on dramatic
design and performance. Bentley’s handcrafted, powerful, luxury cars and Rolls-Royce
cars remain the choice for the super-ich.

(Source: adapted from www.ft com/cms/s/0/1acf27c6-bdcf-11e4-
'9d09-00144feab7de htmitaxzz3ZanpoIQb)
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Extract A
Marks & Spencer’s (M&S) plan to revive its brand
High street brand M&S has long been a sign of British quality and tradition. It provides

arange of food, clothing and homeware, but over the past two years the business has
struggled to maintain its iconic status.

New chief executive, Steve Rowe, is reviewing the future of its range of fashion brands as
part of an overhaul of s struggling clothing business. “Our priority is fixing clothing” said
Rowe, womenswear seems to be the problem area. M&S has lost touch with what the
50+ age group really want and also needs to attract younger customers, such as those at
the top end of NEXT's demographic of 25 to 45-year-olds.

Rowe acknowledged that some of its clothing needs to be more competitively priced.
MBS sold 30,000 pairs of black jeggings - a 200% increase - after cutting the price by
£2t0 £17.50.

M&S's food business i still very strong. Shoppers are more than happy to buy at M&S, but
they need to see non-food merchandise they like as well. Shoppers are much choosier
these days, meaning M&S needs to become more market orientated.

(Sources: adapted from Marks & Spencer Results: A Tale Of Two Halves © 2016
Mintel Group Ltd and New M& boss brands latest clothing sales fall
‘unsatisfactory’ © 2016 Guardian News and Media Limited)
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Answer

Mark

Knowledge 1, Application 3
Quantitative skills assessed:

QS1 Calculate, use and understand ratios, averages and
fractions.

QS2 Calculate, use and understand percentages and percentage
changes
Knowledge: 1 mark for the formula

% change in quantity demanded/%change in income = YED|

Application: up to 3 marks
« Calculate % change in quantity demanded
= (3500-2000)/2000 x 100
= 75% (1)
« Calculate YED
= 75%/-2.2% (1)
=-34.09 (1)

NB If answer given as -34.09, award 4 marks

(O]
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Answer

Mark

Knowledge 1, Application 2, Analysis 1

Knowledge: 1 mark for understanding how businesses use
income elasticity of demand e.g.

« To estimate how demand will change given changes in
income

Application: up to 2 marks for contextualised examples
eq.

« Falling incomes mean that shoppers buy
cheaper/inferior products.

« People unwilling to waste food ‘about £25 per
household’ when money is tight

Analysis: 1 mark for explaining the above e.g.

« Therefore Approved Foods would choose to stock/sell
cheaper/inferior products.

(O]
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Answer

Mark

Knowledge 2, Application 1, Analysis 1
Quantitative skills assessed:

QS3 construct and interpret a range of standard graphical
forms.

Knowledge/understanding: up to 2 marks for

« Correctly constructing supply and demand curves.
« Correctly labelling axes, price and quantity.

Application: 1 mark for

« Correctly interpreting the shift in demand curve (to the
left).

Analysis: 1 mark for

« Showing original and new equilibrium and
consequences on the quantity and price axes.

a Q Quantity

(4)
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Answer

Mark

Knowledge 1, Application 3

Quantitative skills assessed:

QS7 Calculate, use and understand percentages and percentage

changes
Knowledge: 1 mark for the formula
« PED =% change in QD + % change in price (1)

Ap)

ation: up to 3 marks

 Calculate the % change in QD
((690-600) + 600) x 100 = 15% (1)

« Calculate the % change in price
15% + 0.8 (1)

o =1875%(2d.p)(1)

NB: If the only answer given is 18.75/-18.75 award 4 marks.

If the answer given is 18.7, 18.8 or 19 award 3 marks.

@
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 2, Evaluation 2

« Supply is the amount that producers are willing and able to
produce at a given price.

« New technology could mean that it is faster to make silver
earrings with machines.

« The price of silver increases resulting in an increase in cost
of jewellery production.

Potential Counterbalance
« New technology may be expensive to introduce and not all
suppliers could afford it so supply may not increase
significantly.
« Beaverbrooks may already have a large stock of silver so
there would not be an immediate effect on the supply of
silver jewellery.
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Level

Mark

Descriptor

A completely inaccurate response.

Level 1

1-2

Isolated elements of knowledge and understanding - recall based.
Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

‘Accurate knowledge and understanding.
Applied accurately to the business and its context.

Chains of reasoning are presented, showing cause(s) and/or
effect(s) but may be assertions or incomplete.

An attempt at an assessment is presented that is unbalanced, and
unlikely to show the significance of competing arguments.

Level 3

6-8

Accurate and thorough knowledge and understanding, supported
throughout by relevant and effective use of the business
behaviour/context.

Logical chains of reasoning, showing cause(s) and/or effect(s).
Assessment is balanced, well contextualised, using quantitative
and/or qualitative information, and shows an awareness of
competing arguments/factors leading to a supported judgement.
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Answer

Mark

Knowledge 2, Application 1, Analysis 1

Quantitative skills assessed:
Qs3: construct and interpret a range of standard
graphical forms

Knowledge: up to 2 marks for:
« correctly constructing supply and demand
curves (1)
« correctly labelling axes, price and quantity
[0)

Application: 1 mark for:
« correctly interpreting the shift in the
supply curve to the left (1)

Analysis: 1 mark for:
« showing the original and new
equilibrium and consequences on
the quantity and price axes (1)

price Supply 2

Supply 1

Demand

@ a Quantity

@
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 2, Evaluation 2

If a celebrity such as Beyonce was seen eating the coconut
snacks this could make them more popular and increase
demand.

If research showed that coconut was fattening then people
might choose other alternatives therefore reducing
demand.

As coconut snacks are becoming more popular other
competitors might enter the market so demand for Ape
Snacks could reduce.

Potential counterbalance

Some people may not like the taste of coconut so will not
be influenced by celebrities eating the snacks.

There is lots of conflicting information about health foods
s0 people may ignore it if they enjoy eating Ape Snacks.
‘Ape Snacks could have already established a good
reputation and brand loyalty so new competitors may not
be able to compete.
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Level

Mark

Descriptor

A completely inaccurate response.

Level 1

1-2

Isolated elements of knowledge and understanding - recall based.
Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

35

‘Accurate knowledge and understanding.
Applied accurately to the business and its context.

Chains of reasoning are presented, showing cause(s) and/or
effect(s) but may be assertions or incomplete.

An attempt at an assessment is presented that is unbalanced and
unlikely to show the significance of competing arguments.

Level 3

6-8

‘Accurate and thorough knowledge and understanding,
supported by relevant and effective use of the business
behaviour/context.

Logical chains of reasoning, showing cause(s) and/or effect(s).
Assessment is balanced, well contextualised, using quantitative
and/or qualitative information, and shows an awareness of
competing arguments/factors.
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Indicative content

Mark

Knowledge 2, Application 2, Analy:

2, Evaluation 2

Customer tastes and trends - faster/more economical
engines

Availability and/or price of substitutes - electric/hybrid
cars, other forms of transport

Increase in price of complementary goods - fuel, car
tax, insurance

Changes in income - a career promotion may mean
that consumers have more disposable income

Potential counterbalance

The extent of other changes will depend on whether
they are long term or short term e.g. further changes
in technology may cause an increase in the demand
from those consumers who prefer the most up to date
models, rather than those consumers who do not

The extent of the changes in income will determine
customers ability/willingness to spend on luxury
goods, e.g. people who receive large bonuses
Jincreased salary may choose to save rather than
spend the additional income

(®)
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Descriptor

A completely inaccurate response.

Isolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

3-5

Accurate knowledge and understanding.
Applied accurately to the business and its context.

Chains of reasoning are presented, showing cause(s) and/or
effect(s) but may be assertions or incomplete.

An attempt at an assessment is presented that is unbalanced,
and unlikely to show the significance of competing arguments.

6-8

Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Logical chains of reasoning, showing cause(s) and/or effect(s).
Assessment is balanced, well contextualised, using
quantitative and/or qualitative information, and shows an
awareness of competing arguments/factors leading to a
supported judgement.
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Indicative content

Mark

Knowledge 2, Applical

n 2, Analysis 2, Evaluation 2

Price elasticity of demand measures the
responsiveness of demand to a change in price.

The number of competitors that M&S have.

The strength of the M&S brand.

The proportion of consumer’s incomes needed to buy
from M&S

Whether M&S sell luxury or essential products.

Their USP - British Brand.

Level of differentiation from competitors such as NEXT.
Availability of substitutes.

Potential Counterbalance

The extent of the influence of PED will depend on
consumer’s sensitivity to changes in price and the
importance of non-price factors to the target market.
The extent of the influence of PED will depend on
MBS's existing customer’s loyalty to the brand.

(®)
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Level

Mark

Descriptor

A completely inaccurate response.

Level 1

1-2

Tsolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

3-5

Accurate knowledge and understanding.

Applied accurately to the business and its context.

Chains of reasoning are presented, showing cause(s) and/or
effect(s) but may be assertions or incomplete.

An attempt at an assessment is presented that is unbalanced,
and unlikely to show the significance of competing arguments.

Level 3

6-8

Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Logical chains of reasoning, showing cause(s) and/or effect(s).
Assessment is balanced, well contextualised, using
quantitative and/or qualitative information, and shows an
awareness of competing arguments/factors leading to a
supported judgement.





